e 4E#R46 PRI - et G B O P H e

al R CEAR2TAEIE VR W) (1. SR EfA H e EENDLOTE YL F~21. FARLER fidk

HEACFWE AERIPEH B (kg/ 55 7 A4 % B Tmg—TEQ/4E)
s 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21
o WA, HEHIO | | e Wi | gl | B | JUR | 2o , B | apn | PO | pgepe| o | YR | H || A AR
&7 EROT| R BB B BisA | pesha | MRA | =y | om | HOE | SR g | W) g | MR K g | o | mE | e
1| HgROKIEEL A 11 22 0 33
2 | TIULTIK 1 1
3 | TIUNEBET L 235 235
4 | TIINVER R O OB 8 2 10
5 |TZINEE2— (PAFNTI)) =F )L 235 235
6 |7ZULEE2—ERokL T L 0 0
T | TI2UNER IV~ —T T 7 1 8
8 | TIUNERAT IV 235 235
9 |7Yu=pin 217 217
10 [7raLqy 140 699 3,068 88 1,368 123] 234 5,720
11 |7k R A 0 0
12 [7EETATER 760] 3,843 17,087 514] 5,732 5,574 312] 902 34,723
13 [7Er=FL 189 279 65 533
16 |2, 2" —T7YEARALYTFu=RL
17 | ANh=T=
18 0 0
20 260 66,688 9,342 76,289
21
22 |[747m= 1,047 108 1,155
23 |)N\G=T/)Tx/)—)V
24
25 B 7,300 7,300
27 | A43pbmy
28 |[TULATLa—L
29 [1—=TUNFFL—2, 3—TRFL S rsy 1 1
EHT XN R R RED
30 | (TR HEDREHI10MH14ETO 315 2,059 138 197,977 17,605 218,094
HOROZEDREWICIRD. )
31 [T F R ROZEDIEY 8 21 29
33 | s
a4 [B=AVYTFIAF =3, 5, 5-FUAF
L)L =AY T 31—k
36 |4/ T 6,096 6,096
37 [Ex7=/—LA 3 1 4
40 [e7=FF—F 120 120
41 1,209 1,209
46 |¥FHaky 7L 84 84
47 |7 H3IFA 1,659 1,659
48 |EPN 5,355 5,355
49 | TRAEY 1,056 1,056
50 |EVX—hF
51 |[2—Z=FNA~FHh R
52 |75=InT 80 80
53 |m=F B 61,544 21,688 324 88,470 2,498 38,940 5,801 924 9,635 78 229,901
54 |HRAFTE—F 10,841 10,841
56 |T=FLAFXUR 170 163 333
57 |=FLdVa— it/ F)T—T)L 812 36 321 1 1,170
58 |=F LV Ya—LE/AFNT—F )L 5 0 5
59 |[=FLo o7
60 |=FL U7 I MR 3 49 77 129
61 |~ox7 2,000 2,000
62 |voats 25,548 25,548
63 |77 hy7BIR 10,664 10,664
64 |Th7xrTaysA 4,159 177 4,336
2, 3—TARX S u’ /==L =—F
6 |0
70 :Lf/%ﬂ?“/ﬁlﬁ?{%éﬁéﬁﬁ})‘((fi?%ﬁ 57 57
FB1b R BFREEOIREY) :
71 [$EARSE gk 0 0




e fhzR46  PEHIRR - et QA E UM OB H R CEA T BE S BEVLES U (1. M GEfia B L EH N bOT Z YL F~21. FRMINER

HEACFWE AERIPEH B (kg/ 55 7 A4 % B Tmg—TEQ/4E)
s 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21
e WA, HEHIO | | e | g | B | VEEAL | BmAL | W | s e | BT | o | B | e | g | AYVIB | A EER| T adt
" WhEOT | B RAG BAALL OB s | opees | wan | ooy | om | BBE | SR g | W0 g |AVERED AT g | com | mi | e
73 [1—A25/—n
75 | HRIVLROZEDILEY 0 0
6 | ATvar—h7agsan
79 |2, 6—%L/—n
80 [Fi L 93,744 24,981 768 718] 134,562] 107,550 13,014 155,364] 15,132]  3,526] 24,906] 312 512 23] 575,112
81 [¥ /)
82 [#RKOZEDKEMHALEY 7 7 14
83 |[uA 516 138 851 1 1,506
84 |7VAFH—L
85 |/ VBT ILFER 13 31 44
86 |71/ —L 46 46
87 |7ul kO =AliraMbE 2 0 0 2
88 |Afizasbtt 1 181 182
89 |r/mmr=Y
90 819 819
91 4 4
92 [ML7=r IR 612 612
93 [ArFZB—1 4,039 4,039
94 |Hfke =1
95 [ZAT7VF A 1,453 1,453
96 |Y7x/a)fy—L 64 64
98 |/unfk
99 |/uoEffE=F L
100 | 7L FF7m—1 1,670 1,670
101 [7970—1 847 847
103 [HCFC—142b 4,030 4,030
104 [HCFC—22 133,588 133,588
108 [Aa7 oy 7 1,131 1,131
13 [v=ou 193 193
114 (4B )77 7 7
115 [ 7= ¥R 666 666
116 [~F F T/ IR 10 10
117 |57 a5y = 980 72 1,051
118 |3/ur4=/L 57 57
119 [7=>7ary—n 154 154
121 |29 —pnp7x/)—)L
123 |HifbTYv
124 |73 18 18
125 [Zuo~o Py 74 931 2 1,006
126 [CFC—115 238 238
127 [Zaadv s 504 299 77 830
132 |2 VR R DA 6 67 73
133 ;it‘/7")ﬂ~/lx%/l')‘/bl~?/b?t 999 0 1,000
134 |EEfE =L 12 265 277
137 [ 73k 61 61
138 [YZ/os Avh
139 |FFuAR) 13 13
140 [7 =27 45 20 65
141 [TEXH=L 282 282
144 §?77/1t3%(%tﬁ&0\/7/ﬁ&lﬁ% 17 979 995
145 [2— (P FNTI)) 2K )—)b
146 [EVIHRAAF /L 3,332 3,332
147 |[FARUANT 336 336
148 [H7 = Apn—/L 313 313
150 [1, 4—VAF 4 11 11
151 [1, 3—oFFV5
1652 [InsyT 4,030 4,030
153 [FFFAN 438 438




e fhzR46  PEHIRR - et QA E UM OB H R CEA T BE S BEVLES U (1. M GEfia B L EH N bOT Z YL F~21. FRMINER

e G BIPE E (kg/ B 57 7 % - Bl img TEQ/E)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21

4 mits NEEHD | e L | | e | 28| wea | e | W [ e | ae | e | T | g | O || g | 7R | (s raoum| e

i Toomr | T | PR B R whma | (ewemss | wmaA | =y | o V) R g | IR e (WU OB e | oo | mE | e

154 [v7ua~F Ty

157 [1, 2—Y/un=4gy 21 0 21
161 |[CFC—12 8,373 8,373
162 | F b’ ¥3IF 222 222
164 [HCFC—123 1,917 1,917
168 |17 a4 1,420 1,420
169 |Yymv 3,446 3,446
170 |7kt —v 23 23
171 |FeEary—1 107 120 227
172 | AXHTrartRy 386 386
174 V==any» 542 542
175 |2, 4—D 15,701 15,701
176 |HCFC—141b 10,251 10,251
178 |1, 2—vy7muara/i

179 |D—D 1,408,853 1,408,853
181 |Y7mn P 1 1,255 117,158 0 118,414
182 |E 7xv 180 180
183 [E5YL—Fk 5,312 5,312
184 |Y7n~_=/L 193 193
185 |[HCFC—225 2,987 2,987
186 |HifbAFL 11,779 2 11,781
187 |FT /) 1,016 1,016
188 [N, N— v Zu~fi L7

190 (Vv ravpyxy

191 (AT aFAT7 248 248
194 |AHa

195 |FuF A RA 1,320 1,320
196 [AFHF A 3,756 3,756
197 |7/~ 1,155 1,155
198 | AhT—] 30 30
199 |CIZ VAL A& 1260

200 |y=brblxy

203 |V T == T

204 |7 == —F)L

206 | HIVRANLT 7 617 617
207 3,f;y79~yv\f9777*/vf4fyv 3 93 29 0 126
209 |7 aEsunAFy 532 68 600
210 |2, 2=V 7 0RE—2—3 T /)T TIR

212 | 77—} 1,498 1,498
213 [N, N— Y AF L7 ®h7IR 92 56 15 193
216 [N, N—VAF L7 =Y

217 | FAYITA

218 [VAFNT IV 5 11 16
221 | XU TTHLT 10,190 10,190
223 I[N, N=VAFARFLNTIV
g4 |\ NTIATIT TR =N A 3 14,924 61| 14,988
225 |RJZmLRy 200 200
227 |/XFa—h 7,485 7,485
229 |FA Ty —RAFIV 5,010 5,010
231 [ANVh—RIv
232 N, N—VAF )LV AT IR 13,001 13,001
233 |7z hx—] 1,262 1,262
234 |R#E 0 0 0
236 [T AAFT =V 60 60
237 REROZ DA I 1
239 |4 & 0 0
240 |AFLv 2,726 2 1,666 8,275 3,180 953 4,861 21,663
242 | BLU R OZEDOLEY




e 4E#R46 PRI - et G B O P H e

al R CEAR2TAEIE VR W) (1. SR EfA H e EENDLOTE YL F~21. FARLER fidk

HEACFWE AERIPEH B (kg/ 55 7 A4 % B Tmg—TEQ/4E)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21
4 mits e I I sl | | o | W | RS | g | e | B | | B || o | 7 | o stk masm| e
i oopr | o | PP BEGAI | {CBERS | RAL | vy | o VR g | B | TSRO0 e | oo | bE |

243 [FAAFT B 542 542
244 |ZV A 75,952 75,952
245 |FAJRF
248 | ZAT V) 10,296 13 10,309
249 [7E EYRA 4,826 4,826
250 |A/FHF A 264 264
251 17,738 644 18,382
252 |7 F A 269 181 450
253 |77 = JIRA
254 | A7 _UIRA
255 |THTuEY T 2= o—T )b
256 |5 A0 15 15
257 |7 H )=V 11,913 0 11,913
258 [~FHAFLLTFEFIL 787 787
259 |PANT4FA 1 1
260 |7onxo=1 6,060 6,060
261 |74 I4F 4,045 4,045
262 |FhF/noTFL 2,465 0 2,465
266 |77 LR 597 597
267 |FAVINT 412 412
268 [FvTL 1 430 431
270 [FL72VEE
272 |HKEEPES (A BRS, ) 1 216 0 217
273 |/)V=)L—RF T )va—)L 15 15
275 |R7 S VEEE T R oA 17 377 0 47,688 3,634 51,715
276 | ThI=FL R HI
277 [N=F 73 95 150 244
278 [N =FL o TFrF3v 2 4 6
281 |F)/mpxFLo 2,465 0 2,466
282 |~ ofEfig 1 11 12
283 2,4, 6—hJzmr—1, 3, 5—hN7V
285 |yonE sy 318,390 318,390
286 |F) 7oL 622 622
288 |CFC—11 11,750 11,750

1, 3, 5—RJA(2, 3—=RFT 7 rE /L)
291 |—1, 3, 5— N7 —2, 4, 6(1H, 3H,

5H) —RAYv
292 [N 7FALTI
293 [NIZ A5V 1,835 1,835
294 |2, 4, 6—R7aETx/—)V
296 |1, 2, 4—hAF LB 21,943 1,415 1,975 14,929 129 47 40,438
297 [1, 3, 5— RJAF L~ B 9,177 698 121 2,783 2,645 12,308] 2,109 924 3,006 10 33,781
298 |NILu VAV T F—h 26 0 26
299 |MLAYv
300 |bray 137,139 274 24]  6,851] 102,297 24,423|  1,339] 253,526 22,526  4,736] 33,488| 234] 442 262| 587,561
301 |MLZPTIv
302 [F7xLY 1,220 933 2,057 7 4,217
304 |4 0 0
305 |$MbA 8 802 0 810
306 | T ZUNERAF Y AT L
308 | =y v 0 1
309 |=vr/LEY 1 335 336
316 |[=ha~ P 1 1
318 | “HifbiRFE 0 0
321 [NFUTLMEED 0 24 24

5 —[N, N—EZ(2—7&FLAFL =
g9 [T/ T]=2" —(2-T 0% —4, 6V

=haT 2=V TY) 4" = AR TN

EUIN
323 |2 AR 8 8




e 4E#R46 PRI - et G B O P H e

al R CEAR2TAEIE VR W) (1. SR EfA H e EENDLOTE YL F~21. FARLER fidk

HEACFWE AEREH B (ke/ 47 A4 %2 Bildmg-TEQ/4F)
i 2 3 4 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21
4 WHA, HEXED ) mm | e | mam W | AL | A | OB | T | gpe | e | B | g | B | | o | PV | SR IS AR AR A
i oopr | o | PP BEGAI | {CBERS | RAL | vy | o VR g | B | TSRO0 e | oo | bE |
325 [AFT 598 598
328 [P 1,200 1,200
329 RS —/3A—b 3,661 3,661
331 [HAHHRA 1,080 1,080
332 |fL3R M O DL )
v 16 198 214
a2 B EBAT IV

335 [N— (A—bRa¥s7o=/) 7&h7IK
336 |ERE¥ /v 1 1 2
341 [B5ov
342 [EUV 1 1
343 | hTa—v
346 [2—Tx=Tx)—)L 396 396
348 [Tx=L U7
349 [7=/—v 48 0 49
350 [~ULARY 238 301 540
351 |1, 3—74vxr 814 817 10,807 691 1,422 5,761 312] 1,181 21,805
354 |THNEEY — )V~ —T TV 3 8 601 612
355 |7 HIRE A (2— T LA~F L) 16 14 8 38
356 |ZHNNBR /LI — T FI =D 3 3
357 |77 mr=vy 2,575 2,575
358 |77 72 /PR 533 533
360 [~/3v 2,190 2,190
361 | kv I T F L 1,034 1,034
362 |7 7= Funy 1,550 1,550
363 |AXHVTV 232 232
364 | 7= EnFs A—| 215 215
366 |#— Y — 7 FL=bRO~YULAF N
368 |4—F— ¥V —TF )Tz /)—)L
369 [ 7S ¥ vk 114 114
370 [EYF Y 395 395
371 |77 7= ESF 20 20
374 | 5o bk R O O KEEMEIR 224 224
376 |75 ru—L 399 399
377 |75
378 [7uEx7 280 280
379 |[2— ey —1—F—/L
381 [T mEY/mmAZ 308 27 335
382 |/~ —1301
383 [T rviv 497 497
384 [1—F eSS 1,724 1 1,724
385 |2— 7T
386 | HALAT L 17,468 17,468
389 y/:%’ﬂ‘}-?*‘//wa%/br/%:ﬁA:7[19 9 895 100 997
390 [~FHAFLL VTV
391 [ NFHAFLU =AY T F—h 2 2
392 [ =L —~F i 38,543 1,393 11,393 49,817 869 70| 102,085
393 [ RFFTh—L
394 |~V LK OZEOEY
395 |~ULARY “HiEEO KA 2 2
398 [Mifb~rvv
399 [~ XTALTFER 487 4,050 446 712 627 78 6,400
400 [~ B 2,346 6 20,270 667 63,146 6,845 5,119] 14,063 312] 1,246 2] 114,023
402 [A7=FEvh 7,356 7,356
405 [II5FLAD 34 18 8 108 168

R (FFLoFLy) =T LFLz—F)L
407 | (T ARNIEDRFEHD2H3515FTO 3,664 9,066 42 427,753 5,803| 446,327

DR OZDIREMITIRD, )

o



e 4E#R46 PRI - et G B O P H e

al R CEAR2TAEIE VR W) (1. SR EfA H e EENDLOTE YL F~21. FARLER fidk

*BALTFE AR PR B (kg/ 45X AA XV U HHIImg-TEQ/4F)
e 1 2 6 7 8 9 10 11 12 13 14 5 | 16 21
4] WA G el R w | vEdAl- | kAL | WUE | s , B | o | O | e Fhms| A
5 TEaaL| RE ﬁ” g | (ke | s | movy | o | PO SR g | AR gy AU o
108 ?zuﬁ(;fj[\/j‘:rV/):*’:“”l”” 20| 1,606 361 6 2,014
409 ;%éi;‘;iibﬁ)g YT 2| 6,412 63,547 5,149 75,134
410 i%ﬁvyl%vﬂ:/:‘”/l:’blﬂ 165 11,441 1,607 44| 13,330
41 VLT ATER 912 195 2,070] 1,006] 34,687] 1577| 26,156 16,809 937 582 398] 85,330
412 [~ R OZDILE 2 0 2
413 |BEK7 2V
114 B LAV
415 [ AUV ER 2% 3 29
416 |AF TV VEE2 — T F L~F LV
417 [ AH7V MRS, B— A% 7 aEL
118 | AZ IV ER2— (DATF AT =TI 0 0
419 |AZIYVNEE )V~ —T F )L
120 [AH2VLERAT IV 63 63
122 [T=VATy 3,490 3,490
120 | AF N =AIF I T F—F 4,860 1,860
127 [ 5,485 5,690
128 [ 7= )T HNT 1,370 5,055
429 |\pRALTarAF )L 74 74
130 (Ao FxXYHLT 10 10
131 |7 /% AREEY 1,886 1,886
132 |75 R 200 200
133 [1—h 1,550 1,550
434 Fx L 113 143
435 BV oI AT 13 13
436 | TNT 7 —AFNAFL
138 [AFAF T 20 207 0 318
139 [3—AF LTI
142 A= & 75
143 [ AL 1,815 1,815
444 [N ak o ARaEy 34 34
445 [ I xS DAT L 833 833
148 Z<'~tv‘/lf7\(4, 1—Tz=Lby)=U4Yy 93 1 2

73 —h

449 |72 AT 4T 7 A
150 [CUTFALT 202 222
452 |2— ANVHT IR F T —)b 0 1 2
453 [EV7 7L ROZDILAW 3 109 111
1455 [kl 1 8 9
456 [VIALT A= 4 385 385
157 [/ R 1,670
158 (VAN A (2—=FL~F /L)
459 [DARER) A (2— 7T L)
160 [DAFENIN Y 21 71
461 |WARER) 7 ==)L

& 3t 1409,294] 2,163,421 10,192 111,319] 821,489] 119,215] 82,156] 14,962] 666,355] 58,007] 52,570 118,855 2,811] 4,865 14,086] 5,193,233




